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Ⅰ 注意事項 

   １．問題冊子は、試験開始の合図があるまで開いてはいけません。 

２．解答用紙の解答科目欄に「英語」と記入・マークしてから解答してください。 

   ３．問題は 1 ページから 11 ページまであります。 

   ４．問題は持ち帰ってもよいですが、コピーして配布・使用することは法律で禁じられています。 

 

 

Ⅱ 解答上の注意 

   解答用紙は、マーク式解答用紙と記述式解答用紙の 2 種類があります。マーク式の問題で、「解

答番号は 10 」と表示のある問いに対して④と解答する場合は、下記の例のようにマークしてく

ださい。記述式の問題には「解答は 記述式解答用紙 」と表示がありますので、記述式の解答用紙

に記入してください。 

 

 

 

 

 

 

 

 

 

（例）  

解答番号 解  答  欄 

10 ① ② ③ ● ⑤ ⑥ ⑦ ⑧ ⑨ ⓪ 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

問題は次のページからです。 
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問題Ⅰ 次の問１～１０において、英単語の意味として正しいものを①～④の中から一つず

つ選べ。ただし、④は正解が①、②、③のどれでもない場合の解答となる。 

解答番号は   1  ～   10   
 
 

問１ contribution  1   

 

①  結果  ②  貢献  ③  反応  ④  左のどれでもない  

 

問２ observation  2   

 

①  観察  ②  研究  ③  計算  ④  左のどれでもない  

 

問３ view  3   

 

①  計画  ②  見解  ③  事実  ④  左のどれでもない  

 

問４ implement  4   

 

①  取得する  ②  提供する  ③  追加する  ④  左のどれでもない  

 

問５ modify  5   

 

①  修正する  ②  除外する  ③  確認する  ④  左のどれでもない  

 

問６ acquire  6   

 

①  損失する  ②  評価する  ③  獲得する  ④  左のどれでもない  

 

問７ inadequate  7   

 

①  適切な  ②  重要な  ③  不可能な  ④  左のどれでもない  

 

問８ temporary  8   

 

①  永久的な  ②  一時的な  ③  単純な  ④  左のどれでもない  

 

問９ initially  9   

 

①  最初に    ②  結果的に  ③  常に  ④  左のどれでもない  

 

問１０ subsequent  10   

 

①  定額の  ②  上の  ③  次の  ④  左のどれでもない  
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問題Ⅱ 次の問１～５において、各文の内容に最もふさわしいものを①～④の中から一つず

つ選べ。解答番号は   11  ～   15   
 
 

問１ This animal is known for its strong sense of smell and is often used in search and rescue 

missions. It is very loyal to its owner. What is it?  
 11   

 

①  cat ②  dog ③  rabbit ④  monkey 

 
 

問２ This is an institution of higher education where students pursue degrees in various fields. It 

often has a campus with libraries, laboratories, and sports facilities. What is it?  
 12   

 

①  museum ②  gym  ③  kindergarten   ④  university 

 
 

問３ This is an action that means to create something by putting different parts together. It can 

mean making physical objects or developing ideas. What is it?  
 13   

 

①  assemble   ②  compare ③  predict ④  suggest 

 
 

問４ This is an action that means to take something from someone or somewhere, always without 

permission. What is it?   
 14   

 

①  receive ②  perceive ③  steal ④  borrow 

 
 

問５ This describes something that is not very old and has been made or created relatively recently. 

What is it?  
 15   

 

①  ancient ②  modern ③  outdated       ④  classic 
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問題Ⅲ 次の問１～１０において、各文の空欄に入れるのに最も適切なものを①～④の中か

ら一つずつ選べ。解答番号は   16  ～   25   
 
 

問１ Jack  16  perfect for the job. 

 

①  takes   ②  gives 

③  makes          ④  sounds 

 
 

問２ My hobby is  17  photos of birds. 

 

①  take           ②  takes 

③  taking         ④  taken 

 
 

問３ He began to learn how to play the violin  18  five. 

 

①  in   ②  to 

③  on   ④  at 

 
 

問４ The sick boy  19  by his mother. 

 

①  was taken care  ②  was taken care of 

③  took care  ④  took care of 

 
 

問５ I don’t understand  20  you are talking about. 

 

①  what    ②  which 

③  that    ④  of 

 
 

問６ You should study some other languages  21  your native tongue. 

 

①  besides of  ②  besides 

③  because of  ④  because 

 
 

問７   The campers  22  all night. 

 

①  kept the fire to burn ②  kept the fire burning 

③  kept to burn the fire ④  kept the fire burn 
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問８   Taking everything  23  consideration, are you satisfied with your decision? 

 

①  on   ②  to 

③  into   ④  with 

 
 

問９   He wishes he  24  here for a few more days and fish at the river. 

 

①  could stay  ②  stays 

③  could have stayed ④  stay 

 
 

問１０ They talked about how to organize the party  25  several cups of coffee. 

 

①  within ②  in 

③  on ④  over 
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問題Ⅳ 次の問１～５において、ＡとＢの会話が成り立つように、空欄に入れるのに最も適 

切なものを①～④の中から一つずつ選べ。解答番号は   26  ～   30   
 
 

問１ Ａ： How much does a cup of coffee cost in this area? 

      Ｂ：  26   

      Ａ： Both prices are reasonable.  
 

①  It costs ten dollars. It’s about one thousand and four hundred yen. 

②  I don’t know. It depends. 

③  It depends. It’s a dollar in a convenience store, but it can be five dollars in a nice 

coffee shop. 

④  It costs ten dollars in a nice coffee shop. That seems fair. 
 
 
 

問２ Ａ： What do you think of my cousin Tom? 

Ｂ：  27   

Ａ： That’s true. My name is Mick, but he calls me Mike all the time. Still, he’s a great guy. 
 

①  He’s respectful. 

②  He’s respectable. 

③  He’s forgetful. 

④  He’s forgettable. 
 
 
 

問３ Ａ： Look at my smartphone. That’s my sister. 

      Ｂ：  28   

      Ａ： Yes, in some ways. She’s very humorous. And she’s friendly, like me. 
 

①  Is she like you? 

②  What’s the difference? 

③  How are you different? 

④  Does she like you? 
 
 
 

問４ Ａ： There are forty tables and ninety chairs in this room. First, wipe that table until it’s 

clean. 

Ｂ：  29   

Ａ： That large dirty one. 
 

①  Excuse me. Which table do you mean? 

②  How many tables should I do? 

③  Well, I have to clean so many tables. 

④  Well, I have to clean these large ones. 
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問５ Ａ： Jane often lies to me. 

      Ｂ： Really? She is my close friend.  30   

      Ａ： Thank you so much, but I can handle this alone. 
 

①  I’ll promise not to do so. 

②  I’ll promise her not to do so. 

③  I’ll promise her to tell you not to do so. 

④  I’ll promise to tell her not to do so.  
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問題Ⅴ 次の問１～５において、与えられた語句を並べ替えて正しい英文を完成させる時、 

３番目と５番目に来る語句を①～⑥の中から一つずつ選べ。ただし、（   ）内の語

句は、文頭に来る場合も小文字になっている。解答番号は   31  ～   40   
 
 

問１ 私は言われたことをやっただけだ。  

I（  ①  I   ②  was   ③  did   ④  what   ⑤  told   ⑥  only ） . 

 
I             31          32        . 

 
 
 

問２ 知らない土地で道に迷うほど怖いものはない。  

（  ①  is   ②  being   ③  nothing   ④  frightening   ⑤  than   ⑥  more ） lost in a 

strange place. 
 

            33          34        lost in a strange place. 
 
 
 

問３ あなたはある程度正しいと思う。  

I（  ①  some   ②  you   ③  right   ④  are   ⑤  think   ⑥  to ）extent. 

 
I             35          36        extent. 

 
 
 

問４ 彼女は母が買ってくれた服はどんなものでも喜んで着た。  

She gladly wore（  ①  clothes   ②  for   ③  her   ④  bought   ⑤  whatever 

⑥  mother ）her.  

 
She gladly wore             37          38        her. 

 
 
 

問５ この映画は喜劇というより悲劇だ。  

This film is（  ①  much   ②  a   ③  so   ④  not   ⑤  as   ⑥  comedy ）a tragedy. 

 
This film is             39          40        a tragedy. 
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問題Ⅵ 次の文章の各空欄に入るべき語を下の①～⑧の中から選べ。ただし、それぞれ一度 

のみ使うものとする。解答番号は   41  ～   45   
 
 

Today, we use remote controls for all kinds of things: turning lights on and off, playing music, 

opening and closing garage1 doors－  41  controlling pet dogs. But the remote control we use 

most often turns our TV on and off, changes channels, and controls the volume. But do you 

know which came first, the TV or the TV remote control? 

The first real television made its debut in October 1925. That’s when Scottish inventor John 

Logie Baird showed an image of a ventriloquist’s puppet2 named Stooky Bill. That same year, 

Japanese inventor Kenjiro Takayanagi introduced a simple television system at Hamamatsu 

Technical High School3. And in 1927, an American named Philo Farnsworth demonstrated his 

own  42  TV system. 

But what about the remote control? Actually, the first remote control came nearly 30 years 

  43  the invention of the TV. It was created in 1898 by the Serbian4 inventor Nikola Tesla, 

who wanted to control  44  from far away. He came up with the idea for what he called 

“teleautomation.” He first used his invention to remote control a small boat, demonstrating it 

publicly at an exhibition in New York. His invention amazed the public, who had never seen 

anything like it before. 

It was not  45  1956 that the first modern TV remote control appeared. The president of 

Zenith, a TV manufacturer, did not like watching TV commercials. One of his company’s 

engineers, Robert Adler, designed a remote control that could change the channels. This meant 

that his “boss” did not have to sit through commercials, and he did not have to get up off his sofa 

to change channels, either.  

 

出典：  Arao, A., et al. (2022). Answers to Everyday Question 3. Nan’un-Do. 一部改変  

 

注： 1 garage：車庫  
   2 ventriloquist’s puppet：腹話術師の使う人形  

  3 technical high school：高等専門学校  
   4 Serbian：セルビア人の  
 
 

① subjects 

② objects 

③ unique 

④ common 

⑤ before 

⑥ by 

⑦ even 

⑧ until 
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問題Ⅶ 次の文章について設問に答えよ。解答番号は   46  ～   52   

 
 

Japan is famous for its advanced technology and engineering. One example of this is its 

undersea tunnels. [ A ] These tunnels connect different parts of Japan, making it easy for 

both people and goods to move between the islands. They play an important role in keeping 

transportation smooth across the country. Let’s look at two of Japan’s most well-known undersea 

tunnels: the Seikan Tunnel and the Kanmon Tunnel. 

The Seikan Tunnel is the longest undersea tunnel in the world, stretching 53.85 kilometers, 

with 23.3 kilometers running directly under the Tsugaru Strait1. It connects Honshu to Hokkaido. 

This tunnel was completed in 1988 after over 20 years of construction. [ B ] One main reason 

for building it was the dangerous sea conditions between Honshu and Hokkaido. The rough 

waters during storms caused many terrible accidents, with ships sinking in the strait. 

The Seikan Tunnel is used by both passenger trains and freight trains2. Bullet trains3 also pass 

through the tunnel as part of the Hokkaido Shinkansen Line. This makes travel between Honshu 

and Hokkaido much faster and more convenient. However, building the Seikan Tunnel was 

extremely difficult. Engineers had to dig through very hard rock deep under the sea and deal 

with the risk of water leaks4. These challenges make the tunnel one of Japan’s greatest 

engineering achievements. 

Another famous undersea tunnel is the Kanmon Tunnel, which runs under the Kanmon Strait, 

connecting Honshu to Kyushu, Japan’s third-largest island. The Kanmon Tunnel is  49  the 

Seikan Tunnel, only 3.6 kilometers long. It opened in 1958 and had both road and railway 

tunnels, which made it useful for both drivers and train passengers. 

A special feature of the Kanmon Tunnel is that it has a walkway for pedestrians5. This means 

that people can actually walk under the sea to cross between Honshu and Kyushu. [ C ] The 

walkway is about one kilometer long, and there are signs inside the tunnel that show the exact 

border between the two islands. Many tourists enjoy the rare experience of walking under the 

sea, which makes this tunnel even more interesting. 

Japan’s geography creates many challenges for transportation. The country is full of 

mountains, and it is made up of many islands, which makes building roads, railways, and bridges 

very difficult. [ D ] These tunnels are especially important for moving goods and connecting 

faraway areas.   

Undersea tunnels are also very important during natural disasters. When typhoons or 

earthquakes make sea or air travel impossible, undersea tunnels allow transportation to continue 

safely. This makes them an important part of the infrastructure in Japan. 

Japan’s undersea tunnels are great examples of engineering that help solve the country’s 

transportation problems. From the famous Seikan Tunnel to the unique Kanmon Tunnel, these 

tunnels make travel easier and safer, and show Japan’s commitment to using technology and 

innovation to solve problems.   
 

注： 1 the Tsugaru Strait：津軽海峡         2 freight trains：貨物列車  
3 bullet trains：新幹線  4 leaks：漏れる  
5 pedestrians：歩行者   
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問１ 次の英文を読み、本文の内容に合っていれば  ①  True 、間違っていれば  ②  False を

選べ。解答番号は   46  ～   48   

 
１．About 30 kilometers of the Seikan Tunnel doesn’t run through directly under the sea. 

 46   
 

２．The Kanmon Tunnel is a popular place for tourists because they can enjoy beautiful 
scenery inside the tunnel.  47   

 

３．Japan’s geography prevents people from moving freely, so Japanese people still don’t 
have ways to easily cross between Hokkaido and Kyushu.  48   

 
 

問２  49  に入るべき最も適切な表現を下の①～④の中から一つ選べ。  

 

① a bit larger than 

② a bit wider than 

③ much longer than 

④ much shorter than 

 
 

問３ 次の文は  [ A ]、[ B ]、[ C ]、[ D ] のいずれかに入る。最もふさわしい箇

所を①～④の中から一つ選べ。解答番号は   50   

 
Undersea tunnels provide a good solution by offering safe and fast transport below the 
sea. 

 

①  [ A ] 

②  [ B ] 

③  [ C ] 

④  [ D ] 

 
 

問４  本文 下か ら５ 行 目の  infrastructure と最 も近 い意 味の 表現 を 下の ①～④の 中か ら一

つ選べ。解答番号は   51   

 

① transport network 

② industrial improvement 

③ problems of the population 

④ safety in architecture 

 
 

問５ この文章のタイトルとして最も適切なものを下の①～④の中から一つ選べ。  

解答番号は   52   

 

① The Great Talent of Japanese Engineers 

② Amazing Undersea Tunnels in Japan 

③ Japan’s Transportation through Undersea Tunnels 

④ A History of Tunnels in Japan 
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問題Ⅷ 次の問１～５において、下線部の日本語を英語で表現して、文を完成させよ。 

解答は  記述式解答用紙   
 
 

問１ 今晩時間があれば、一緒に外食しませんか。  

                if you are free tonight? 
 
 

問２ 私は図書館でよく時間を過ごしたものだった。  

I                 in the library. 
 
 

問３ それはなかなか難しそうですね。  

That             . 
 
 

問４ 私を見るや否や、彼は逃げ出した。  

               , he ran away. 
 
 

問５ 昨日の朝、私は財布を忘れてきたことに気付きました。  

Yesterday morning, I              . 



2025(令和7)年度　金沢学院大学・金沢学院短期大学
一般選抜Ⅰ期（２日目／2025年2月4日実施）

解答例【マーク式】

英語

解答番号 正解 配点 解答番号 正解 配点

1 ② 1 26 ③ 2

2 ① 1 27 ③ 2

3 ② 1 28 ① 2

4 ④ 1 29 ① 2

5 ① 1 30 ④ 2

6 ③ 1 31 ④

7 ④ 1 32 ②

8 ② 1 33 ⑥

9 ① 1 34 ⑤

10 ③ 1 35 ④

11 ② 2 36 ⑥

12 ④ 2 37 ③

13 ① 2 38 ④

14 ③ 2 39 ①

15 ② 2 40 ⑥

16 ④ 2 41 ⑦ 2

17 ③ 2 42 ③ 2

18 ④ 2 43 ⑤ 2

19 ② 2 44 ② 2

20 ① 2 45 ⑧ 2

21 ② 2 46 ① 1

22 ② 2 47 ② 1

23 ③ 2 48 ② 1

24 ① 2 49 ④ 3

25 ④ 2 50 ④ 3

51 ① 3

52 ② 3

マーク 85

記述 15

計 100

問題Ⅲ

問題Ⅵ

問題Ⅶ

問題Ⅰ

問題Ⅳ

問題Ⅴ

2

2

2

問題Ⅱ
2

2



 2025 年 2 月 4 日(火)  

 

2025(令和 7)年度 一般選抜Ⅰ期 ＜２日目＞ 

記述式解答用紙 「英語」 

 

受験番号  氏  名  

志望学科 学科 専  攻 専攻 

※専攻欄は「経済学科」｢文学科」「教育学科」受験の場合に記入してください。 

 

 

 

問題Ⅷ  はっきりと読みやすい字で書くこと。 

また、下線部に入る英語表現のみを記入すること。        点 

 

問１ Would you like to eat out together 

問２ used to spent time 

問３ seems very difficult 

問４ As soon as he saw me 

問５ realized that I had forgotten my wallet 

 

解答例 

各３ 


